Montage des urnes

320x400x400: 600/800 bulletins - 527100
425x%x400x400: 800/1200 bulletins - 527110

FRANCE: +33.(0)2.54.80.32.99
EXPORT: +33.(0)1.39.08.26.55

Procity = (x0)

n)

D 701 | Montage des umes - 527100; 527110; 527112 - Viersion 05 - Date : 2009 2016 - Page 1714 INI® 364 PROCITY



(x4)

527100

(AJ1 x4

(x 1)

365
SF1527100.04

J

ACC03420

(x2) (P)
381 x 305 376 x 376
ATE 527100.06 VIT 81006

© & O

%
x4) N
400 D '/-\‘ 1 (x4)
SFI527100.01 l ® D ACCO5115
(x4) (x 16)
0 2
s L
. (x7)
-((i D ACC 18199
s
© 4CC 220308
o o -
. M] (x1) (x 1)
FAT 16051 D ACC02130 Q

(x2)

ACC19097

(x2)

ACC 17052

381 x 305
VIT 81032

A

376 x 376
ATE 527100.05

D 701 | Montage des umes - 527100; 527110; 527112 - Viersion 05 - Date :20 09 2016 - Page 2114 INI® 364

(T 1)

SF1527100.A



527110

(x 4)

(AJ1 x4

&
400
SF1527100.03

(G) «x1)

ACC05116

B)1 x4

B) 4 A
=all| =

SF1527100.01

(x 4)

ACCO05115

(x 16)

400

376
SF1527110.02

Hc M4x5
ACC 220310

(x7)

©

ACC 18199

(x4)

CBLZ M4x8
ACC 220304

R) x2)

. M| (x 1)

M4x8
ACC 220213

(S] x1)

FAT 16051

365
SF1527100.04

J

ACC03420

(x2) (P)
381 x410 376 x 376
ATE 527110.06 VIT 81006 ),
o . (x2)
:: ACC 17052
© ,
.
(&)
L | l
S
Ol x2)

381 x410 376 x 376
VIT 81031 ATE 527100.05

A

¢

ACC02130

S

A

(S w—

[y

D 701 | Montage des umes - 527100; 527110; 527112 - Viersion 05 - Date :20 09 2016 - Page 3114 INI® 364

(T] 1)

SF1527100.A



527112

(x 4)

(AJ1 x4

&
400
SF1527100.03

(G) «x1)

ACC05116

B)1 x4

B) 4 A
=all| =

SF1527100.01

(x 4)

ACCO05115

(x 16)

400

476
SF1527112.02

Hc M4x5
ACC 220310

(x7)

©

ACC 18199

(x4)

CBLZ M4x8
ACC 220304

R) x2)

. M| (x 1)

M4x8
ACC 220213

(S] x1)

FAT 16051

365
SF1527100.04

J

ACC03420

(x2) (P)

381 x510 376 x 376

SFI1527112.06 VIT 81006 ),
(x2)
| ACC 17052
© ,
O
L =

e i i
S
Ol x2)
381 x510 376 x 376
VIT 81091 ATE 527100.05

A

¢

ACC02130

S

A

(S w—

[y

D 701 | Montage des umes - 527100; 527110; 527112 - Viersion 05 - Date : 2009 2016 - Page 414 INI® 364

(T] 1)

SF1527100.A



527100 527110 | 527112

4x (B1

2X (Al

e 4x (A1

D 701 | Montage des ures - 527100; 527110; 527112 - Veersion 05 - Date : 20 09 2016 - Page 5114 INI® 364 PROCITY



75% Nm

A

Q!
D 701 | Montage des ures - 527100; 527110; 527112 - Veersion 05 - Date : 20 09 2016 - Page 6114 INI® 364 PROCITY



D 701 | Montage des ures - 527100; 527110; 527112 - Veersion 05 - Date : 20 09 2016 - Page 7114 INI® 364 PROCITY



2<@g<3mm

o

W e W W=

2 >3 mm

D 701 | Montage des umes - 527100; 527110; 527112 - Viersion 05 - Date :20 092016 - Page 8114 INI® 364










D 701 | Montage des urnes - 527100; 527110; 527112 - Veersion 05 - Date : 29 09 2016 - Page 11/14



4L N
—~—1 N

C=
G~

-

Op=mmmmmm
C=

c J

— B--

oo Q o -’:@- -




Lym-

(&)

o

4

28
P
N
ISR
e
82

uvf.%\\\\

IR TS,

Montage des umes - 527100; 527110; 527112 - Viersion 05 - Date : 20 09 2016 - Page 13114 INI® 364



Procity = (x0)

100%NmM

D

v
[
[
[
Vo
(o

1 1
D 701 | Montage des urnes - 527100; 527110; 527112 - Veersion 05 - Date : 20 09 2016 - Page 14114 INI® 364 PROCITY






